R4 ¥ 3 28 £ B /M ZF &£ E L B EX KX =
B tEE BEXZDTL #R TR28F£8HF20R8 (1)
¥ & R RO EEER)
SE | EH K% i wE
#H |eme|  FEER B |#H || FEER B |lEfz| 28R &
64 [100m B B #H 1§ FEHIHRE/N[4] 7| 13740 | +03 E
5248 [100m i A — x| /MERAC | 1| 5| 1421 | —08 %E
#3#& [80mH &k B & A|E7ILFRAC| 5| 5| 13815 | —o06| 1| 7| 13%19 | + 03 3 ]
HE |EEB w B B K| F—LAEWL 4m25 |+ 0.2 34
Zlwam |zEm w2 m ew 1m3s 1
HE et |FOR O K| F-LEFD 40m05 41
KERELSST
$5& [4x100mR| ZH-@EW 2| 8| 5792 B
&% AR
#£& |kRF1oom|E #H X B AEELISTI| 5| 6| 16802 | — 15
64 [100m %% i B B (ushST [6| 7| 14852 | — 04 &
5% [100m #oun o' E NAC 6| 2| 14%24 | —02] 2| 3| 14804 |+ 13| 7|14%04| + 138
#iE [80mH ol B K BB 6| 4| 14801 | —04 EE
HE |EEB T #® ¥ 85 F-LEWL 3m84 | — 03 36
?JE EE X 5 B SE|XEELIST 1m10 47
HiE |provssomi|g B E B[ F—LHFN 36m43 34
KERELSST
#5E |4x100mR| /- E 4| 8| 5723 -3¢
Z1L-hith
#£& |RF1oom|#E WL F | KEELSST| 4| 7| 1551 | — 13




